Comment from ARC chair Claude Charlot

Concerning the disagreement in detajj, please produce expectation with the simulation reweighted as the data shape in detajj
(before unblinding)
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We need to understand how our choice of background
function may impact the fitted signal strength

We generate 1000 (“throw") toy datasets with some RM\W\\\\\\\\\X\\\\\\\\\\% Rx\\\\\\\\\\\\\\\\\\\\\\\\\\\“\\\\\\\\\\\\\\x\

choice of background function and fit back with
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The SF’s to reweigh the detajj distribution is taken from a CR with 400 < m;; < 500. In this region we have almost no signal.
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An;; distribution in the CR. SF’s are derived scaling

to data and data minus signal. Both SFs’s are
compatible within uncertaincties.

X

—

o
(o)}

2| — 1.5
§0-045f_ CMS data |data — signal ¢ Data |
vos- Preliminary IEWYjets fake v 1.4 1 Bkg Bk ® Data- signg
- v SR
0.035 —
— 1.3 A
0.03;— IQCDyjets +Data
0.0252— 1.2 - *
0.02 — 118
0.015
e
0.01 1.0 - ‘ *
0.005
0.9 ~
ol g Ll
O 3 N
%1.21 ;'\~:HA*"H'\*."H'“*\'\'\'\:"\‘\'\\\\-\i\\\v\&;\\\i\k\ \‘&\‘& N 0.8 -
R Y <t k T 6 1f0 1f5 zfo 2i5 3ro 3f5 4ro 4r5 5fo

1.5 2 2.5 3 & 4 4. 5 5.5

Bin

Merged into 1 bin

CMS

HELMHOLTZ




A pull value, P, is calculated for each toy dataset according

to,
L n B Entries 1000
P o (rtTUth o ’T’f Zt)/ Uf 1t ;qg) 50 — - Mean 0.2477
c - Std Dev 1.042
L n %2 / ndf 57.3/59
B Constant 39.14 = 1.64
What threshold do we use to define “acceptable” bias? = Mean  0.1939 x 0.0324
40 — B Sigma 0.9631 + 0.0262
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We have a total uncertainty of 12%. The bias effect is negligible 0 L_"f‘/‘;’iz 7 5 1 5 3 2
therefore the background modeling is acceptable (assuming all Pull

the mis-modeling comes from the background)
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